St. PBN Public School, Gurugram
Half Yearly Examination
Class- VI
Subject- English
Sample Paper

Time - 3 hours M.M -80
GENERAL INSTRUCTIONS:

e All questions are mandatory.
e Read the questions carefully before attempting.

SECTION- A (READING )

1. Read the passage given below and answer carefully: (1X5=5)

Mental health is crucial for our overall well-being, yet it often remains misunderstood or
overlooked. It refers to our emotional, psychological, and social well-being. Good mental
health enables us to cope with stress, work productively, and contribute effectively to society.
However, various factors can affect mental health, including genetics, life experiences, and
environment.

In today's fast-paced world, mental health issues are increasingly prevalent. Stress from work,
relationships, or financial pressures can lead to anxiety and depression. It's important to
recognize symptoms early on, such as persistent sadness, irritability, or changes in sleep
patterns. Seeking help from professionals like therapists or counselors can provide strategies
to manage these challenges effectively.

Maintaining good mental health involves adopting healthy habits like regular exercise,
adequate sleep, and nurturing relationships. Additionally, practicing mindfulness or engaging
in hobbies can reduce stress levels. Awareness and open conversations about mental health
contribute to reducing stigma and encouraging support within communities.

1. What does mental health encompass?

2. Name two factors that can influence mental health.

3. How can regular exercise contribute to mental well-being?
Certainly! Here's a short question based on the comprehension passage:

4. How can maintaining good mental health benefit individuals in their daily lives?



This question prompts the reader to reflect on the practical benefits of maintaining good
mental health as discussed in the passage.

5. Assertion and Reason :
Assertion: Stress from various sources can impact mental health negatively.

Reason: It disrupts emotional stability and can lead to conditions like anxiety and
depression.

- A. Both the assertion and reason are correct and related.
- B. Both the assertion and reason are correct but not related.
- C. The assertion is correct, but the reason is incorrect.

- D. The assertion is incorrect, but the reason is correct.

2. Read the poem given below and answer the questions that follow: (1X5=5)

Little Krishna

In fields of green, where cows do graze,

A little boy with eyes that blaze.

With flute in hand and peacock feather,
He brings joy to all, whatever the weather.

He dances with gopis in the moonlit night,
Their hearts so full, their smiles so bright.
Stealing butter from pots so tall,

He laughs and plays, the mischief of all.

Protector of Dharma, friend of all creatures,
He fills the world with love and features.
Oh, Krishna dear, with your divine grace,
Guide us forever in life's endless race.

1. What does Krishna carry in his hand in the poem?
- A) Sword
- B) Flute
- C) Shield
- D) Dagger



2. Where does Krishna dance with gopis?
- A) In temples
- B) In forests
- C) In palaces
- D) In fields

3. What does Krishna like to steal in the poem?
- A) Apples
- B) Grapes
- C) Butter
- D) Bread

4. How does Krishna fill the world according to the poem?
- A) With laughter and joy
- B) With sadness and sorrow
- C) With darkness and fear
- D) With anger and rage
5. Describe the beauty of Lord Krishna in your own words.

SECTION- B (GRAMMAR)

3. Identify the sentence structure in the following sentences:- (1x2=2)
1. The Toll Plaza is located at the National Highway.

2. Alice explored a Wonderland.

4. Insert correct punctuation and identify the type of conjunction. (1x2=2)
1. He wanted to join the school after summer holidays but could not

2. The army chief took a right decision at right time otherwise the enemy would have looted
our country

5. Fill in the correct determiners. (1X4=4)

1.lhave __ doubts in the question paper.

2.She has bought __ apricot mask from the market.

3. people attended the meeting organised by the Prime Minister of the country due to
heavy rain.

4, pillar fell on a parked car due to heavy storm.



6. Identify the type of underlined pronoun. (1x2=2)
1. You will assist the chief guest to reach the stage.

2. This is the house which | was looking for.

7. Identify the underlined word as ‘Adjective’ or ‘Adverb” (1x2=2)
1. Heworks _ than anyone else in his team. ( good)

2. The Tsunami waves raged ___ than usual height, causing havoc.( high)

8. Fill in the blank with appropriate tense: (1x6=6)
1.She _ (write) a diary every night .

2. They __ (learn) the mantras everyday.

. They __ (travel) to hill stations every summer holidays.

W

.He ___ (learn) his lessons day and night.
.She __ (come) from America after two years.

. They had learnt their lesson before the teacher .(come)

O O U

. Fill in the blank with Noun Clause: (1x3=3)
1. She came to know .

2. Ithought .

3.Showme

SECTION-C (WRITING)

13. Imagine you recently bought a new backpack from a local store, but after a week, the
zipper broke, and the straps started tearing. Write a letter of complaint to the store
manager, explaining the problem and requesting a replacement or refund. Make sure to
include details about the purchase and your expectations for resolving the issue. (6)

14. Your school is organizing a Science Exhibition next month, and you need to invite the
Principal of a neighboring school to attend the event. Write an email to the Principal,
providing details about the exhibition and requesting their presence. (7)

15. Imagine you had an exciting day at school today because your class organized a
surprise farewell party for your favorite teacher. Write a diary entry describing how the day
unfolded, your emotions during the event, and the memorable moments you shared with
your teacher and classmates.* (6)



SECTION-D LITERATURE

16. Read the lines and answer the following questions-

I’d wake and hear the cold splintering, breaking.

When the rooms were warm, he’d call,

and slowly | would rise and dress,

fearing the chronic angers of that house,

a) Name the poem and the poet? (2)

b) Whose chronic angers does the speaker fear? Is the son grateful towards his father?

(2)
c) What is the theme of the given poem? (2)
17. Answer the following questions in brief . (2X5=10)

a) Is it wise to use social media without limits, or should we use it purposefully and avoid
overuse?

b) Who was Parshuram? What did he do before becoming a sage?

c) Whose efforts made it possible for Nawab to eat the Shahi daal urad?

d) How does it feel when a living creature is put into cage ?

e) Write the appearances of the donkey as described in the poem ?

18. Answer the following questions in detail:- (3X2=6)

a) What happened after Kunal got sucked in to the computer? What lesson he learnt from
this?

b) Describe character sketch of Drona in your own words.
18. Case Based Questions: (2x2=4)

1. Do you agree that a successful business is not just about creating a good product but also
about impressing customers, even if it means setting aside personal attitude issues?

2. In the story, do you think the Nawab's failure to remember the "dal shahi urad"
demonstrates good etiquette?

19. Write the meaning of the following words:- (1X4=4)

a) Splintering. b) Angers



C) Reluctantly d) Throne



de W d° 9° ufstie woa  oumm

el arftfes ufan
& : gradl
fowg : fgat
TR Uy T
qqg ;3 °c¢ 3i - 80
g e :
1 9 e & IR <1 fard g1
2 AW 3R gt T &4 I |
3 T8l DI S I Ugdh IR alfold|
YT &
Ty 1. FERIIR IR g (1x20=20)
() Fo Tecf &1 Hadt T 3 B I Teg HEA g
(i) & eq] P A T 5 Neq, e HEAd & |

ity Frafrfad 2rsq TEl O 9 3ugdd sq TR TdTl TTSU-
@) dIsT, ueh, Tos, Us
@) dePl, Hig, ST, Ififd
(v) Fafafad wsal o o1 seaes faau- ¢maw, ®id
(v) TTHRITRT T [T dadt o OH: fafau - gieft & a1 k1 Wi foepat Y o1 @7 Tl
(vi) T SEAPR AT Bl I: Y- U9 @ ¢l Ol ga1 # IS @1 B
i) Vg F PRI T A IS TN HTAYG ST Hed ol
viii) o ®IM ¥ S0gad SRS HTTNT HL- i M HT1US 5
i P F U A IaS P e FaTaegEe3q__ Fed gl
w Fefafed va o1 9 - s IR TR 8
(xi) TRR 3R AP BT U -Uh YTIIaT Wec ford |
(xii) T 3R 3IHd o1 faay Ueg fafam|
(xiii) "SIl T 8} WTdT Y- IS & fort U Treg forlRau|
(xiv) ‘DI’ & forg WWW%@QI
(xv) T R T P G{ﬁﬁ'l'@ﬁl
(xvi) 31T U T Gl Weq TATSU
(xvil) AT T 3figra BT TeTar & 31 ford |
(xviii) ‘'FeeT TR HIdard Bl Sic Ao BT Y ford |
xix) PRI B 3R SR &I eaHYdS ufet| dayd i T faweat & I 3fed faswed AR
IR fafau|

HY: (A) Sl YeGT e b & A TR 3% 31 & gRad a1 3 € 3¥ Iuf Fed




HRUT (R) HATS 3R RS Weg H 31T YT g

(@) HYF(A) Te! &, PRU (R) TTad & |

(@) PYT (A) T &, PR (R) T8l g

(T) PYUT (A) 3R BRI (R) ST &1 Te & A BRUT (R) BYUT (A) B TS} AR Tl BTl
(@) BUT (A) 3R BRUT (R) ST 81 7Teid 2|

(XX) BYUT (A) &I 0N & AT P! I Had o

BHRU (R) T T UBR B gret 2

@ HYF (A) TE! 8, BRI (R) TAd g

@) BYT (A) TTAd §, RO (R) TT T

() BYF (A) 3R BRI (R) G 81 T8I & |

(@) BYT (A) 3R BRU (R) 1 & T B

Ty 2 FGfRId TR &1 Ugdx I 7T U4l & IR To! fddbed g x dIfoTd | (1x5=5)

FS AT YH 3R TP T & A1 TR FHTSAIE BT faR1Y FHRd & | Afe Ta g1 oY < T AT o 3R
T Td BT U Tabivl o T Ad g | SHRT UTeH TP & gl avg &I ard A | T 3R SHa1 SHIeH i
[T BT ART AT, T gAY SR IST37 3R TS AN b1 Y =7 T I HIHT STl AT R 9 &1 1 T8 § b
Tt AT St 3T Y IUF | YID! STifad I8 3R S f[dbr B &1 THF HUBR ¢ | FART UriA
TXpfa Bt gt a1t oSt § 3R U 99 i1 | 1 34 TR R e sioierd @ off 9uft ard & i3t §
AR TII G | 3ra: UrHdT 3R 3NYFHar &1 THad U THS & AU FTHR § 1§HAR! Ipid ga
farema ofR SER € | 39 fay S &t 3= wrae fAfgd g

(@) $B AT YH 3R TpTd & T R 5y H1 forie axd 87
0 AN T
(I FHAIG @
(1  Sifdarg &1
@) T AN fHTe! it =0 7 dd &2
o Y 3R Tpid @I
g 3R Aogd B
() HTST 3R Apfd B
@) ol 3R IS NN P fh BT 3T HFT ST UT?
(1) AT BT 3
(ay  odi IS
(i  gaSl B S
(4) AR WP i &2
o fourd eiR &R
a  TYIARIER
any  fo=me SR IR
(&) TR & forT Iuge =i giee
)  HRAE e ™
(I HRA™ Searg
(1 YRR G¥pid




s 3: FEfRId BT Dl Ughr Yo T Ul & IR Tl fddhed g4 R Siforu|

TR Dt QUgd § ,qU gUAY & A |

PIe TSh dRBIA Bt, MR- STeit uSt o
Bl el 2 Ul Bt +ff, Ul e T |
-7 S, HHTal-3 gy TS U

Bl 3BT & oI AR |

TdH S(Hal aiT 4T gl IR

P Dl HIcil-Ht AT b dd R

al SedT UT|

IH-GH off gararat A 90 TR |

Sedf ¥ usd ot gaa 91e &1 7 die W
YT Y81 98 dRPIA &1 STail 311131 & SR |
FHH TP AT R H= IR ot

E-gd Dt Hict-dt e forld i iR

R 5d e g4

o1 7 4 <t b TG 7Tl Y ST

RoTaT T8+ & Hid- a1 # |

(@) HfIdT H frg M9H & IR & g1 741 82
n W
ay  TRHE
Iy s
@) Ts& [T T T 88 /7
)  HHed
() dRPIEY
)  TRY
() gD fordap TRIGT i
) S W
any  9Y g
(IOt
(@) g8 9 TS U?
n W
ay e
Iy ey
(&) We U Sal § I 1 Fich I di?
o WPt sigferar
ay T DT SATHT

(1 SR

(1x5=5)



YT &
auy 4: FARfRId TR &1 g T U UMl o IR el fddbed gra dIfSTU|
(1x5=5)

TG P 71d H 96 3 YU 811 ST Ugd U gag WidH1 9uT & U IGuINuN §8— el T4l o A1fed
AT T SRIY g foh 98 Ha OR 311 Su) 3ot dfdd  fReaes Affa da & ifedl W de1 ot uT fh
T = 3 T3 J T forT| s YuyTrd §U 3 Ha & o g § 7 317 3R el 31 71d ¢ 30 39 dR
STiaTSl 9o 0| ol $9- Ugall DHefl DI IR a=el &1 IH aTs | U gUTs Wad ge gt et 3§
T g & R 718 | Af8d 3 Xd S ams SR IR &1 gaq o foran 1+ o1 aikawy arferdt &
TSTSTeE ¥ Il 3T
(@) Vdd TR fohd aTe § fora T g2
() Ui el ol IHS
any  Uid arEl @ A8
D ENIGEISICIEIRERED
@) FYHER A by #a IR g
VEIEGED
I 3fcd Bl
any R DI
@M A D YYHER A 39 W R o
() I RN B o FaTg At
) I 3fCH B IH F1Ts it
(I I8 BT UUY T AT
®@) R ORI b 7ol 33712
O AR
ay  cferdl &Y TSTSTee ¥
Iy TRY
(&) A g wem | Ugar um?
n  Sredi g
an AAH
(i  Ggard
uy 5: FEfRed ST & TeH: 1@ T U o IR I8! faded g i (1x5=5)

foHT foaR S 2, ) UTe Usar|

H1H faTR 391 51 | gid g9 |
S H g g R § 99 T U

G UM FHM, M- T 81 9 Hid ||
% TIRR B g9 Hg X 7 el
Tedd ¢ g A, fopa S famm fammei |

(@) TRgd Haferdl & TAfdl HH /7
o) TR eR wform
(i) T YR Tqadl
(i) {IRT




(@) T I ford U1 1 82
() TIRER Bt Heferi
(1) FIReR oY gRferan
(1) FIReR ot tgfea
@) ‘R &1 3 g7
() e
(1) 74
(1 IR
@) &Y g # uSdH usar g2
(1) S fom11 foaR o wraT ©
(I1) ST 3RTH BT 5
(1) ST AgTd Hdl §
(®) Ta ¥ +f 1 8T eqan
(1) HeTd
(i) g9
(iii) §@

Uy 6: FGfRad wslf & IR 30 T 40 sl H SIfTT (3 x4=12)
() =TT WF HifoTe- faaRT &1 ggar aiar ot § § 39 e &1 it &1 Raqar i § g g
(@) Hid A 1 fory foIT &e1 8- 89 ©, Wifdl gd erufi &

@) IRy’ fHY FHel T TIMRT -UTs & STUR R fafau)
(d) UT6 &1 WS Ul TATel &t e’ b1 AIidedl ¥ Hifod |
gy 7: Ffafad uelf & IR ioiT | (2x4=8)
(@) fo 1 faaR foq T8 PR & o1 guIRUTH - B &7
@) TR 3 9d B 39 W i garn?
@) "Ug- forgeR dre Ta=R ST~ AT & 39 919 H fAfgd =1 @y wiforg|
@) TS H forT Iarerull gRT Ri fovan a1 § 6 Sharar & o siicAed &1 9gd Sma=adhdl gt 62
vy 8: FufaRad gl & dfér IR S| (1x5=5)
@) 3 TP FLRI B o] Yol T8 & IH! 87
@) B g aHa wigar & ' e for uged gem g2
@) 3fcd TaHT dgdl i UT?
@) 3T Yol d ST HAT U168 H T B fd! I ol el aa ot
(&) |- WRY' & forw o1 31 IR 872

uy o: FUfIRad H T fhelt U U &1 3TN 40 T 50 Vsl H SifoiT| (5x1=5)
(@) ST WY HITT--ANT GIRY Pt 3T} BT fa-TesT Ot TWd § TR 31Ut 3@ & AR Bl 8T
aTGd|

@) ‘B T Aex-IZfdhd g1 UT8 & YR TR A\H & 1Y Il gHedT BT auH Pifomd |



YRT 7T
s 10: Fafafad & 9 foodll ue fawg R sigwde fafau|

() TEHUI Teb ATHRITT
(@) TRYH Bt ThaIdl Bl Hoil
@M I TRT <= AR
gy 11. Fafafad & 4 fosdl v fovg R v fafee |
DI 89 BT UQTs & IIY 1Y Wl § &M o4 & forg v ford
3ryar
fOdT St GRT 9ol 1T YUBR & ot 3% 4=iaTe &d gu U ford |

©)

(5)



St. PBN Public School, Gurugram
Half Yearly Examination
Class- VI
Subject- Mathematics

Sample Paper

Time: 2 Hours
General Instructions:
e All questions are compulsory.
e Question paper consists of five parts.

e Part-1 contains 10 Multiple Choice Questions, each carrying 1 mark.

e Part-ll contains 11 questions each carrying 2 marks.
e Part-lll contains 8 questions each carrying 3 marks.
e Part-1V contains 4 questions each carrying 4 marks.

e Part-V contains 2 case study questions each carrying 4 marks.

Part-I
Q.1 Choose the correct option and write in your answer sheet
i. When we multiply two integers of same sign, we get

(a) a positive integer (c) any interger
(b) a negative integer (d) none
ii. 144/156 in its lowest form is
(a) 144/156 (c) 156/144
(b) 12/13 (d) 22/52
iii. Arayis a straight linewith ___ end point(s).
(@)1 ()0
(b) 2 (d) none

iv. How many exterior angles can be formed by a triangle?
(a) 3 (c) 1
(b) 2 (d) 6

v. How many lines of symmetry are there in circle?
(a)1 (c) 10
(b) 2 (d) infinite

M.M: 80

(1X 10=10)



vi. The another name for triangular pyramid is
(a) apex (b) pyramid
(c) tetrahedron (d) vertex

vii. The symbol for congruency is
(@)~ (c) =

(b) = (d) =

viii. A line that passes through two or more lines in the same plane at distant points is called

a
(a) Concurrent lines (c) intersecting lines
(b) Parallel lines (d) perpendicular lines

In each of the following questions, an Assertion (A) and a corresponding Reason (R)
supporting it are given. Study both the statements and state which of the following option
is correct.

ix. Assertion (A): If Aand B are any two integers then A x B is also integer.
Reason (R): Integers are closed under multiplication.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A'is true, but R is false.

d) A is false, but R is true.

X. Assertion(A): The simple interest on a sum of 5000 lent for 4 years at a rate of 8% per
annum is X1600.

Reason (R): SI =P x R/100
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) Ais true, but R is false.
d) A is false, but R is true.

Partll



Q.2 Solve the following questions: (2X11=22)
i.  Multiply 4 x (-3) using a number line.
i. Add:7/2+3%.
iii.  Find the profit or loss for CP =X750 and SP =X 620.

iv. Inthe given figure, AD || BC. Find the value of x and the measures of angle DAB and
angle ABC.

D SO, C
/4;+ 35)/
L
A B

v. The angles of a triangle are in the ratio 4:5:6. Find the measure of each angle of the
triangle.

vi. In AABC and ADEF, BC = EF and CD = AF and angle C = angle F. Is AABC = ADEF ? If
yes, by which congruence criterion?

vii.  Construct AABC, where BC=5cm, AB=4cm, and AC=4cm.
viii. Draw the net of a triangular prism.

ix. Construct a triangle whose two sides are 3 cm and 4 cm, respectively, and the
included angle is 70°.

x.Draw two parallel lines at a distance of 5 cm apart.
xi.What is the value of a in the given figure?

Part —lll

Q.3 Solve the following questions: (3X8=24)
i. Ina math quiz, positive scores were given for the correct answer and negative scores for

incorrect answers. Nisha scored 30, -20, -8, -15, and 20 marks in five successive rounds.
What was her total score?
ii. Simplify: 21.03-12.07 +9.843 -7.22



A student has to score 40% of the maximum marks to pass the exam. Priya scored 165
marks and failed by 35 marks. Calculate the maximum marks.

iv.  Inthe figure, identify the following:
.2
a T;j 3 i
5/‘1’ 6
b h [ / i
(a) Corresponding angles
(b) Alternate interior angles
(c) Co-interior angles
V. Name any three figures having more than three orders of rotational symmetry.
vi. Draw the top, front, and side views of the following solid figure made up of cubes.
vii.  Inthe given figure, AD || BCand AB | | DC.
‘A B
D C
a. Verify that AADC = A CBA.
b. Which angle is equal to angle ACD?
c. Which angle is equal to angle ACB?
viii.  Simplify: 34 + [18- {17 + (9+ 13 -5)} ]
Part -IV
Q.4 Solve the following questions: (4X4=16)

Malnutrition is a dietary deficiency that occurs in children when they do not get
nutritious food. This results in poor health conditions. The government took initiatives
and decided to distribute 108 litres of milk among all the children of a village. If each
child got 1L of milk, how many children were there in the village?

Convert the answer into decimal.



ii. Inthe given figure, angle ABC= angle DCE =90°, AB =12cm, AC=DE =15cmand CD =9
cm. Find:

a. BC
b. CE

iii. Construct a right-angled triangle PQR whose hypotenuse measures 6.5 cm and angle R
= 60°.

iv.  (a) Find the order of the rotational symmetry of an equilateral triangle.

(b) Write two English alphabets having both vertical and horizontal reflection
symmetry.

PART -V (4X2=8)

1. The population of a town was increasing gradually. The population of the town was
60000 and after 1 year it increased by 10% but suddenly in the 2nd year due to an
epidemic the population decreased by 10%>

a. What will be the population of the town after 1 year?
b. What will be the population after the second year?

c. Convert 75% into decimal.

d. Convert 49/50 into percentage.

2. Renu takes the shortest route to her home by walking diagonally across a rectangular
park of measures 150m x 80.

(a) Draw a figure showing the path using the given information.
(b) Find the distance covered by Renu through longer route.
(c) Find the distance covered by Renu through shorter route.

(d) State Pythagoras theorem.



St. PBN Public School, Gurugram
Half Yearly Examination
Class- VIl
Subject- Social science
Sample Paper
Time: 3 hrs MM.80

GENERAL INSTRUCTIONS:
1. All questions are compulsory.
2. Do as directed.

Q1. Fill in the blanks with suitable words. (1x5=5)
i) The and ranges act as a divide between northern and
southern India.
i) Mughal rule began in the century CE.
iii) The is the uppermost layer of the Earth.

iv)  India’s only volcano is on Barren Island in the
v) The draft of a proposed law is called a

Q2. Choose the correct options- (1x5=5)

i) If an event took place in 540 CE in India, it would fall within:
a. the pre historical period
b. the ancient period
c. the medieval period
d. the modern period
ii) To meet the expenses of maintaining a huge army, Alauddin Khalji:
a. sold most of his jewels
b. minted thousands of gold and silver coins
c. confiscated all the rent-free landholdings given to priests and government officials
d. banned all banquets and assemblies
iii)  Atmospheric pressure is measured in:
a. Grams per cm® (g/cm?)
b. Kilograms per metre® (Kg/m®)
c. Millibars (mb)
d. Metres per second (m/s)
iv)  One of these sets is part of the human-made environment:
a. Factories, houses and vehicles
b. People, trees and animals



c. Mountains, rivers and seas
d. Trees, rocks and sand
") A state legislature can make laws on one of these subjects:
a. Defence of the country
b. Foreign affairs
c. Agriculture

d. Railways
Q3. State whether the following statements are True or False- (1x5=5)
i) The composition of air in the atmosphere is uniform.
ii) Incoming solar radiation is fully absorbed by the atmosphere.

iii)  Magma that spills onto the surface of the Earth is called lava.
iv)  The construction of the Qutab Minar was completed by Iltutmish.
V) China has a two-party system.

Q5. Case study - (5)

Ravi is on a school trip to a hill station with his friends. During the journey, he notices that the
air feels cooler and thinner as they ascend. His teacher explains that the atmosphere is
composed of different layers, each with varying temperatures and characteristics. Ravi
becomes curious and starts asking questions about the atmosphere.

i) Name any four main layers of the atmosphere. (2)
ii) Ravi learned that the atmosphere contains the ozone layer. Explain the importance of
the ozone layer and also mention in which layer it is located. (3)

Q4. Observe the following picture and answer the questions that follow. (5)

i) Which Mughal emperor is depicted in the coin? (1)

ii) At what number is he in the line of Mughals, starting from Babur? (1)

iii) Which significant event in the history of India coincided with

his rule? (3)

Q6. Answer the following questions in one word or few words- (1x10=10)

i) Who is the author of Baburnama?
ii) Name the tribe the Mughals descended from.
iii) Which Mughal ruler introduces the mansabdari system?



iv) Name the Afghan Governor who challenged Humayun’s rule.

v) Name the instrument used to measure air pressure.

vi) What is the study of inscription known as?

vii) Mention any two factors that influence weather and climate.

viii) Mention the term used to describe a community of living and non-living things that
work together.

ix) Name the machine on which voters in India cast their votes by pressing a button.

x) Name any one country having two-party system.

Q7. Answer the following questions in brief - (2x5=10)

i) Name any four distinctive features of Indo-Islamic architecture.

ii) Define metamorphic rocks.

iii)  Distinguish between endogenous and exogenous forces.

iv)  What are the forms of totalitarian governments? (Name any four)
V) Differentiate between a bye-election and a mid-term election.

Q8. Answer the following questions (3x5=15)

i) Why did Humayun have to flee from his kingdom? Did he return? (2+1)

i) Write a note on the hot, dry and dusty local wind that blows in the Northern Plains of
India during the summer months.

iii)  What do you know about the lithosphere as a layer of the Earth?

iv)  Mrs Ratan stays at home and does all household chores on her own. She also helps
her children with their studies. When asked to fill out a government form however,
Mr Ratan wrote ‘nothing’, for ‘occupation’ beside his wife’s name. Do you agree with
him? Validate your answer.

V) What is meant by unbiased information? Is the media always unbiased?

Q9. Answer the following questions in detail- (5x3=15)
i) Assess the effect that Muhammad bin Tughlaq’s policies had on his reign.
OR

Do you think that Aurangzeb’s policies led to the decline of the Mughal Empire?
Validate your answer.

ii) What is volcanism? Explain the differences between the different types of volcanoes.
OR
Earthquakes are considered to be some of the worst natural disasters. Do you agree?
Validate your answer with reference to the earthquakes in Turkey-Syria in 2023.



iii) Mention any five steps taken to improve the conditions of girls and women and to
reduce gender inequality.
OR

Assess how democracy would be affected if media came to be controlled by the government.
Q10. On the political outline map of India mark the following: (1x5=5)

i) Daulatabad ( Devagiri)

ii) Place where the Taj Mahal is located

iii) Place where the Lingaraj temple is located
iv) Place where the Qutub Minar is located
v) Place where the Jaisalmer Fort is located
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GENERAL INSTRUCTIONS
1. All questions are compulsory.
2. Read the questions carefully before attempting.

Ql. Choose the correct option and write in your answer sheet:

1. 0°Cisthe same temperature as

(a) O°F (b) 212 °F
(c)32°F (d) 100 °F
2. Humidity in the air is generally high in
(a) winter season (b) summer season
(c) rainy season (d) autumn

3. Which among the following is not responsible for soil contamination?

(a) Terrace farming (b) Use of fertilisers
(c) Solid waste (d) Industrial waste

4. The low-pressure area at the centre of a cyclone is called

(a) The eye of the cyclone (b) typhoon
(c) storm surge (d) tide

5. The state of water that exists at 0°C is
(a) ice (b) liquid water
(c) both ice and liquid water  (d) steam

MM: 80

(1x8=8)

6. Which organ in the human body has the similar function as that of the stomata in

plants?
(a) Stomach (b) Lungs
(c) Heart (d) Mouth

7. The process of taking in food by an animal and utilisation in the body is called

(a) ingestion (b) digestion
(c) nutrition (d) egestion



8. The S.I. unit of average speed is
(a) km (b) m/s
(c) m/s? (d) s

Ql. The question below consists of an assertion and a Reason. Use the following key to
choose the appropriate answer. (1x2=2)
(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Ais true but R is false.

(d) A'is false but R is true.

Assertion (A) : The uppermost horizon is dark in colour.

Reason (R): The uppermost horizon is called top soil.

Assertion (A) : Penguins are good swimmers.
Reason (R) : Penguins have webbed feet and streamlined body.

Qlll. Answer the following questions in one word/sentence- (1x7=7)
1. State the percentage of actual amount of water available for human use.
2. If a car travels 216 kilometres in 4 hours, calculate its speed.
3. Which parts of the plant are called food factories of the plant?
4. Name the secretions of stomach which digest food.
5. Name the mode of transfer of heat in which medium is not required.
6. Which soil is considered to be the most fertile and used for growing crops?
7. Name the instruments used to measure the direction and speed of wind.
Q IV. Answer the following questions in brief - (2x6=12)

1. Differentiate between wind wane and anemometer

2. When does water runoff take place?

3. Why metal knob feels colder than a wooden knob at the same temperature?
4. What is the role of stomata?

5. How do insects and microbes increase soil fertility?

QV. Answer the following questions in brief. (3x9=27)
1. Some green plants eat insects. Why? Give two examples and explain how they derive
nutrition.

2. Write the difference between milk teeth and permanent teeth.
3. A utensil, which is made of thick copper base, is placed on the gas burner to heat up
water in it.
a) Describe briefly how heat is transferred:
i) From the gas burner to water
ii) Spread through water in the utensil



b) Explain why water boils faster in a covered utensil than in an uncovered utensil.
4. Give reasons for the following.
a) Birds from cold regions migrate in winters.
b) Polar bears have two thick layers of fur.
c) Polar bears have white fur. Explain with the help of a diagram.
5. Explain rainwater harvesting. How is it beneficial for the conservation of water?
Name the three main types of soil. Compare their properties.
7. How do the following factors affect the time period of a pendulum?
a) Mass of the bob
b) Length of the string
8. What are different forces that act on a kite when it flies? Name them and explain their
working with the help of a diagram.
9. State and explain the causes of depletion of the underground water table.
QV. Answer the following questions in details (5x3=15)
1. Explain the different stages of the water cycle with the help of a line diagram.
2. What is soil erosion? List four main causes of soil erosion.
3. Differentiate between the following:
a) Merino wool and cashmere wool
b) Moulting and reeling

@

Q VI. Value based questions (2.5x1=2.5)
1. The small intestine is highly coiled structure. It is about 7.5 metres long. It receives

secretions from the liver and the pancreas. The liver is a reddish brown gland located in the
upper part of the abdomen on the right side. The pancreas is a large cream coloured gland
located just below the stomach that secretes the pancreatic juice.
(a) What important function of pancreatic juice and bile
(b) What happens when the partly digested food reaches the lower part of the small
intestine.
(c) In the lower part of the small intestine which juice completes the digestion of all
components of the food.
(d) Name the glands associated with the alimentary canal?
(e) What is the length of small intestine?

Q VII. HOTS based questions - (2.5x1=2.5)
1. How does an aeroplane fly in the sky? Does atmospheric pressure affect the flight of the
aeroplane?

Q VIII. Diagrams (2x2=4)
1. Draw a well labelled diagram of life cycle of silk moth
2. Draw a well labelled diagram to show the layers of soil.
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General Instructions:
1. All questions are compulsory.
2. Read each question carefully.

Q.1 Multiple choice questions- (1x10=10)
1. When you finish editing within a cell, Excel returns to mode.
a) Edit b)Finish c) Ready
2. To select a range, hold down the key and click on adjacent cells.
a) Shift b) Ctrl c) Alt
3. Which function finds the largest number in a range?
a) Count() b) Sum() c) Max()
4. Which of the given cell references can be used in a relative reference?
b) SD6 b) A3 c) AS1
5. Name the bars and slices that represent the data values on the chart.
a) Data series b) Plot area c) Legend
6. Which type of chart has a greater visual impact than a line chart?
b) Area chart b) Pie chart c) Bar chart
7. Which tab is used to add a chart in a worksheet?
a) Format b) Home c) Insert
8. The tool is used to move the canvas.
a) Move b)Paint Bucket c) Fill Bucket
9. Pencil 2D is a/an software

a) Open source b)Proprietary c) Shareware



10. -is a frame where there is a change in the object.

a) Frame b)Keyframe c)Playhead
Q.2 Fill in the blanks: (1x8=8)
1. The indicates the current frame that is being displayed on the stage.
The -button is used to repeat the animation infinite number of times.
The window is the area where you create your drawings.
The palette displays the colours for the selection.

-is the vertical axis that is used to plot the values.

A is an effective way to display data in pictorial form.

N ok wnN

are like multiple film strips stacked on top of one another.

8. Arange can be used in a formula.
Q.3 State True or False: (1x5=5)
1. You cannot sort the data only in one field.
2. X-axis is the horizontal axis.
3. The paint bucket tool is used to fill colour in an enclosed area.
4. You can select the gradient colour from inner square of the color wheel palette.
5. The base of Hexadecimal value is 10.
Q.4 Assertion and Reason-

In the following questions a statement of assertion is followed by a statement of
reason select the correct answer (1x2=2)

1. Assertion: Ms excel offers a wide range of charts to interpret data.
Reason: Charts assist the users in comprehending the data logically.
a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation
of Assertion (A).
b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct
explanation of Assertion (A).
c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.
2. Assertion (A): Control panel button is present on the top of the Timeline.
Reason (R): Range is not a button of control panel.
a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation
of Assertion (A).
b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct
explanation of Assertion (A).



c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

Q.5 Competency based questions: (1x15=15)

1. Ritu is a student of class VII. Her math teacher has asked her to prepare a chart on the
marks of 10 students. Suggest her best suited chart type for her project.

2. Aman wants to change the layer name in Pencil 2D project. Write down the steps to
perform this task.

3. Kartik wants to draw beautiful scenery in different frames but he does not know how

to add a new key. Suggest him the right option to fulfill the task.

4. In MS excel, Radha has entered the marks she obtained in half yearly exam. She wants
to calculate the total and the average of the marks. Suggest the functions she should
used to accomplish the task.

5. Write the name and function of following tools-

a.
]
=

6. Write the shortcut keys for the following functions
a. To create a new workbook
b. To paste copied objects.
¢. To maximize the worksheet
d. To open saved workbook.
7. Convert given Binary numbers to decimal numbers-
a. (10001)
b. (1110)
c. (1010)
Q.6 Answer the following in one word or one sentence. (1x10=10)
1. Explain any one function with example.
2. Name any two components of Timeline.
3. Name any two Sparklines.



4. Which tool is used to draw free-form lines?
5. Name any two components of chart.
6. Which chart type is a unique version of line or column chart?
7. What is the base value of binary number system?
8. Write the number range of hexa decimal number system?
9. Define octal number system.
10. What is the extension of excel file?
Q.7 Answer the following in short(In 20-30 words)- (2x5=10)
1. Explain Animation.

2.
3.
4,
5.

Explain the utility of the Sort feature.
What is Pencil2D software?

What do you understand by Formulas?
Define Timeline.

Q.8 Answer the following questions:[Attempt any 4] (3x4=12)

1.

i BWN

What is control panel? Explain the buttons of it.
How is a column chart different from a bar chart?
How is function different from formula?
Differentiate between color wheel and color palette.
Convert given numbers in to binary numbers.

a) (65)

b) (89)

c) (512)

Q.9 Case study based questions. (8)

a.

Timeline in Pencil 2D is a crucial feature that allows animators to manage and organize
the sequence of frames in their animation projects. In Pencil 2D, the timeline is where
each frame of an animation is laid out sequentially, providing a visual representation of
how the animation progresses over time. Animators can easily add, delete, or rearrange
frames within the timeline, allowing for precise control over the pacing and flow of the
animation. The timeline also facilitates the management of multiple layers, enabling the
animator to work on different aspects of the animation, such as background,
foreground, and character movements, independently yet synchronously. This
organization helps in refining and adjusting the animation to achieve the desired effect.
Answer these questions-

1. Write any two features of Timeline.

2. Write one difference between the term Background and foreground.

3. Canyou change the flow of animation in Pencil 2D?



4. What is the use of frames in Pencil 2d?

b. The control panel in the timeline of Pencil 2D Animation is a crucial component for
managing and orchestrating the flow of an animation project. This panel allows
animators to manipulate frames, layers, and keyframes, providing comprehensive
control over the timing and sequence of the animation.

Identify and write the name of these control panel components-
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